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N & 0l & Av S Z M A
20149 = =& 2 3 B3I JIEISEsH §dE ~ EFH
2N BES
M ARDSXY Y
SH9l: FOIBOIAN =5 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
SES 937,416 837,416 100,000
2R 2XSE oY 700,000 600,000 100,000
FRHEOANLE &= 700,000 600,000 100,000
TSI YA 500,000 400,000 100,000
401 AIEHI L 20 500,000 400,000 100,000
01 A& HI 494,600 395,680 98,920
OMEANEZHISA 24,730,000& 24,730 0 24,730
OUAADISAHZTHEE S A 24,730,000 24,730 0 24,730
O2AZ LT EZZ S At 24,730,000& 24,730 0 24,730
QA Z THEE S A 24,730,000 24,730 0 24,730
03 Al S HHI 5,400 4,320 1,080
OAEANEZHI S A 25,000,000& *1.08/100 270 0 270
OUAADISHZTHEE S A
25,000,000& *1.08/100 270 0 270
I EZEHI AL 25,000,000% *1.08/100 270 0 270
Ot AHZTHEZZ S AL 25,000,000 *1.08/100 270 0 270




N & 0l & Av S Z M A
20149 = =& 2 3 B3I JIEISEsH §dE ~ EFH
2N B
M AR XNIEHY
Sol: FOBOIAL 25 (eol:@e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
Sote 652,019 632,019 20,000
22 KGRy 482,068 462,068 20,000
FRHEOANLE &= 482,068 462,068 20,000
TSI YA 270,000 250,000 20,000
401 AIEHI L 20 270,000 250,000 20,000
01 A& HI 267,192 247,408 19,784
O2XN=s2 ZHEIA 19,784,000& 19,784 0 19,784
03 AlE SR THHI 2,808 2,592 216
OLXN=s=2 ZEIA 20,000,000% *1.08/100 216 0 216
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N & 0l &t A AN A
20148 =4 2 g B3| H ,IJIEIEYES N SdS ~ 2FH
A R
B ARQ XY
CHol: ZOIHOAL 25 CERED
S -G (FH) - NRAY - BES Ol &F o o= o HDE2
FAA 656,248 621,248 35,000
AR X9 485,000 450,000 35,000
FOIHOIANAE &HE 485,000 450,000 35,000
FOIGot Al 285,000 250,000 35,000
401 Al HI L E0HHI 285,000 250,000 35,000
01 Al& H| 282,300 247,624 34,676
OStA0tES s EZEZA 5,000,000& 5,000 0 5,000
22 =222 2L s2Z U Z2A
29,676,000 29,676 0 29,676
03 Al 20| 2,700 2,376 324
O2=2 HEZ22 2HA sZ2FHIZ2A
30,000, 000& *1.08/100 324 0 324
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Hl = 0 & AF S & AN M
20148 &= =& 2 3 LUGAH,IIEISESH &8s ~ 2FH
2A: JotH
MM ARD XS
CHel: FOIBOAY BE (et @ e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
Jbor® 717,832 662,832 55,000
ARD XSy 505,000 450,000 55,000
ZOIEHOIAL &5 505,000 450,000 55,000
ZOIH ALY 305,000 250,000 55,000
401 AlEHIZ =20 305,000 250,000 55,000
01 Al&H| 301,814 247,300 54,514
Oxlel2n A2l S2AH KA 19,784,000 19,784 0 19,784
OJIOtHOIEE & =Y 10,000,000 10,000 0 10,000
OdJ|27 MAF0E M= s2Z2F
24,730,000 24,730 0 24,730
03 A& 2 HH 3,186 2,700 486
OXxlel27 Acld 23 K14
20,000,0002 *1.08/100 216 0 216
OdJ|27 MAF02 M= s2EF
25,000,0002 *1.08/100 270 0 270
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N & 0l & Av S Z M A
20149 = =& 2 3 B3I JIEISEsH §dE ~ EFH
2N 0l2H
M AR XNIEHY
Sol: FOBOIAL 25 (eol:@e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
o2 665,420 650,420 15,000
22 KGRy 477,068 462,068 15,000
FRHEOANLE &= 477,068 462,068 15,000
TSI YA 265,000 250,000 15,000
401 AIEHI L 20 265,000 250,000 15,000
01 A& HI 263,596 248,596 15,000
OFUn=H =2 FUl3A 15,000, 000& 15,000 0 15,000




N = 0l & At & Ml A

201449 =Z 2 3 Le3 A JIBHSEYNH SdE ~ SFH

SN 83
HE: AR NN
SH9l: FOIBOIAN =5 EERED
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Husz
g36 704,404 679,404 25,000
ARD XY 507,562 482,562 25,000
ZOIHOAIL &5 507,562 482,562 25,000
TSI YA 295,000 270,000 25,000
401 A& H LS OH bl 295,000 270,000 25,000
01 Al&HI 292,138 267,408 24,730
OBZ2M AFX AHBLZA 24,730,009 24,730 0 24,730
03 Al = Ch bl 2,862 2,502 270
OFZ2A AKX MHBABA
25,000,000 *1.08/100 270 0 270
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M =AHH
g A2 NFHLE

Sl FOIBOAL BB (S &2)

SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
TAHH 674,610 649,610 25,000
28 XFEHeg 507,068 482,068 25,000
FUEYAE &F 507,068 482,068 25,000
YA 295,000 270,000 25,000
401 AIEHIZ 2 CHYI 295,000 270,000 25,000
01 A& HI 292,354 267,624 24,730
fE ActE HHISA 24,730,000& 24,730 0 24,730
03 Al 2 THHI 2,646 2,376 270

£ AGHE FHISA

25,000,000& *1.08/100 270 0 270




= A
N = 0 &8 AFH Y & A AN
20148 &= =& 2 3 LUGAH,IIEISESH &8s ~ 2FH
SA: e
MM ARD XS
CHelr ROIEOAY &E (9@ )
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
M EH O 649,293 624,293 25,000
ARD XSy 495,000 470,000 25,000
ZOIEHOIAL &5 495,000 470,000 25,000
ZOIH ALY 295,000 270,000 25,000
401 AlEHIZ =20 295,000 270,000 25,000
01 Al&H| 291,922 267,192 24,730
OUE0ts o2 HHIZA 24,730,000 24,730 0 24,730
03 Al& 2 HH 3,078 2,808 270
OU=E0tE o2 HHIBAM
25,000,000 *1.08/100 270 0 270




> A
A £ 0l & AF S & M A
20149 = =& 2 3 B3I JIEISEsH §dE ~ EFH
2N He
M AR XNIEHY
Sel: FUBEJALE &5 (Sl & &)
SA-EY.B(BH) - PN - BES 0] &b 2 p/E-T HI RS2
H=¢ 606,002 581,002 25,000
22 KGRy 475,000 450,000 25,000
FRHEOANLE &= 475,000 450,000 25,000
TSI YA 275,000 250,000 25,000
401 AIEHI L 20 275,000 250,000 25,000
01 A& HI 272,030 247,300 24,730
O23=s2 % == HHIEA 24,730,000& 24,730 0 24,730
03 AlE SR THHI 2,970 2,700 270
Osf=2 %2 == TEISAM
25,000,000& *1.08% 270 0 270




N = 0l & At & Ml A
2014EE X2 2 8 ABEH IESLN BHS - BF
ST
M 47D Mol
SHol: FOIHOAL &35 CER-ED
SA - () - NRANY - BES 0 &k 7= HDz2
39d 669,817 644,817 25,000
28 XFEHeg 487,068 462,068 25,000
FUEYAE &F 487,068 462,068 25,000
TSI YA 275,000 250,000 25,000
401 AIEHIZ 2 CHYI 275,000 250,000 25,000
01 A& HI 272,030 247,300 24,730
Oxds2 Z¥ 24,730,000& 24,730 0 24,730
03 Al 2 THHI 2,970 2,700 270
Oxd=s2 Z¥ 25,000,000% *1.08/100 270 0 270




= A
N = 0 &8 AFH Y & A AN
20148 &= =& 2 3 LUGAH,IIEISESH &8s ~ 2FH
S HEol
MM ARD XS
S FUHOYAIL &= (&2 &)
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
=0 633,186 608, 186 25,000
ARD XSy 487,068 462,068 25,000
ZOIEHOIAL &5 487,068 462,068 25,000
ZOIH ALY 275,000 250,000 25,000
401 AlEHIZ =20 275,000 250,000 25,000
01 Al&H| 272,138 247,408 24,730
ORE 22 HHIZ A 24,730,000 24,730 0 24,730
03 Al& 2 HH 2,862 2,592 270
ORE =2 HBISAM
25,000,000 *1.08/100 270 0 270




O]l & AF & & Ml A
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BHS -~ BFH
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=
20148 =& 2 3 LE3H JIESE A

SN o

M A2 NN

SH9l: FOIBOIAN =5 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
CHers 627,777 602,777 25,000
22 KGRy 475,000 450,000 25,000

FRHEOANLE &= 475,000 450,000 25,000
TSI YA 275,000 250,000 25,000

401 AIEHI L 20 275,000 250,000 25,000
01 A& HI 272,354 247,624 24,730
OUWAAAZ =HZ I A 24,730,000& 24,730 0 24,730
03 AlE SR THHI 2,646 2,376 270
Oouxiglz &I A 25,000,000 «1.08/100 270 0 270




=
N = 0l & At & Ml A
20144 E =Y 2 3 YWE N IIEISLEN BHS ~ ST
SN aee
HE: AR NN
SRl FOBOANL BB EERED
SA BB S (EH) - NEAMY - B 0 4t o4 oI o HRE
2 1 681,717 656,717 25,000
ARD XY 495,000 470,000 25,000
FOBHIANL &5 495,000 470,000 25,000
TSI YA 295,000 270,000 25,000
401 AIEHI L 2 THHI 295,000 270,000 25,000
01 Al 292,138 267,408 24,730
O4el HYR JH L 52 ZF
24,730,000 24,730 0 24,730
03 A& S THHI 2,862 2,502 270
O4el HYR JH L 52 Z&
25,000,000 *1.08/100 270 0 270




= A
N = 0 &8 AFH Y & A AN
20148 &= =& 2 3 LUGAH,IIEISESH &8s ~ 2FH
SM: 4O
MM ARD XS
S FUHOYAIL &= (&2 &)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
A DHOH 747,200 722,200 25,000
ARD XSy 507,068 482,068 25,000
ZOIEHOIAL &5 507,068 482,068 25,000
ZOIH ALY 295,000 270,000 25,000
401 AlEHIZ =20 295,000 270,000 25,000
01 Al&H| 291,814 267,084 24,730
QU ARIQIT 2 SH& T AL 24,730,000 24,730 0 24,730
03 Al& 2 HH 3,186 2,916 270
OYARIQEZZ AT A
25,000,000 *1.08/100 270 0 270




N & 0l & AF & & A A
P014HE = 2 5 Yural N JIEISEE N 2HS ~ BF O
S Otae
HE: ARD AN
Sol: FOBOIAL 25 (e9: & 9)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
It et 655,183 630, 183 25,000
ARS XN 475,000 450,000 25,000
FOIHOIANL =5 475,000 450,000 25,000
ZolAYAY 275,000 250,000 25,000
401 A& Bl L= CH bl 275,000 250,000 25,000
01 Al&H 272,030 247,300 24,730
OFAHEH TN 24,730,000% 24,730 0 24,730
03 Al& 2 Ch 2,970 2,700 270
OFAH&EE E&4TA 25,000,000 +1.08/100 270 0 270




= A
N = 0 &8 AFH Y & A AN
20148 &= =& 2 3 LUGAH,IIEISESH &8s ~ 2FH
2 gdH
MM ARD XS
CHel: FOIBOAY BE (et @ e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
O & o 684,459 659,459 25,000
ARD XSy 520,000 495,000 25,000
ZOIEHOIAL &5 520,000 495,000 25,000
ZOIH ALY 320,000 295,000 25,000
401 AlEHIZ =20 320,000 295,000 25,000
01 Al&H| 316,544 291,814 24,730
Odel QEZ M 24,730,000 24,730 0 24,730
03 Al& 2 HH 3,456 3,186 270
O4del 232 MEEYI
25,000,000 *1.08/100 270 0 270




= A
Hl = 0 & AF S & AN M
20148 &= =& 2 3 LUGAH,IIEISESH &8s ~ 2FH
2N B8FY
MM ARD XS
S FUHOYAIL &= (e &)
2 A .2 () - HEMNY - BHES 0] AFoH Iy H HnE2
=] 755,773 705,773 50,000
ARD XSy 567,068 517,068 50,000
ZOIEHOIAL &5 567,068 517,068 50,000
ZOIH ALY 355,000 305,000 50,000
401 AlEHIZ =20 355,000 305,000 50,000
01 Al&H| 351,166 301,706 49,460
OXA A Y2 FHy| 24,730,000 24,730 0 24,730
OYEIR HEES Hi4+2 FH 24,730,000 24,730 0 24,730
03 Al & 2 HH 3,834 3,294 540
Odga SFAF dgdz J|
25,000,000 *1.08/100 270 0 270
OgHEI7? A== =2 3|
25,000,0002 *1.08/100 270 0 270




